Name: KEY ‘.

1.

Date:

Hour;

> 3
20 2p Ot
D~ C

Find the area of

Find the area of
bF70

58

)

&

b,=91

h
54

Unit F Review

In parallelo ABCD, AB = 5 and BC = 30,
Find the Gerimetor)

30+5+65 =
triangle ABC below.
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the trapezoid below.
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which one side has length 1l1h.
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7. Find the length of the missing side.
Qi‘\’ bl - CZ-
2 2
20+ 45° =P
96,25 =7

8. Find the length of the missi.nq side. 8) n: KO
0> +b* ="

2 2 _ 2 ‘
n" + I% - gz 7n"—- KO

n*+ 324 = 724
374, -32M

™ =]e400 7 .
9. The two legs of a right tilg;gle ave ' 9) ILP?? Urlrks

lengths 21 and 72. What is the perimeth
of the triangle? .

ar+ b =" =75
o= 15 —]27__*_ 2‘2_ :.CZ- .]2+ 2]+75
T :S‘i@l% “—‘\\Tz

10. In &0 at the right, 10) I l()o

miEE‘= 2500 and OB = 17. .
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a, Find the length of ADC.

b. Find the area of the
shaded sector.
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11. Find the perimeter of a square with area 11) VY1
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12. A rectangular garden 21 feet wide and 36 feet 12) 8—1 .F+
long is to be buillt with the short side against
the wall of a house. There will be a 6-foot gate
in the adjacent side. How much fencing will be

36 ft J

13. A rectangular hall floor 6 feet wide and 1
9 feet long is to be covered with square

L BT7.40
ceramic tiles that measure 3. inches on a

id d t $0.90 h. What will ‘be’ - \
iéeetgﬁalcgist of thzagiles?a ‘fl © > X O'qo ﬁ’ 777” (PO

Q£+ x 12 =logm-‘-a-3=xg_wus.
Tn [t X L= T = 3= 224 Hls,

14. Find the area of the figure below.
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15. There are two different paths you can use 15) lg 2' 3 m
to cross a rectangular park which
measures 240 m by 470 m. One path is laid
out along a diagonal of the park.
other path is laid out along two Adjacent jruxt
sides. To the nearest tenth of a
how much shorter is the diagonal path
than the path along the two adjacent

sides? : : -('7 L{’lO"i' 2"{0 :7(0
02_,(, L% = Cy_ - /‘r(ljd(ﬁ\ﬂ _ 52_{_7
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Square XYZW has sides with qu5 _ S l)n|*u

length 4s. XW is the diameter
of circle P. Write an expression
for the area of the shaded reglon

Square: 4s-Hs |(,p8
Y, trce: B0t = e (1972 T-Ho>=12.Ls" + 2 = (. 3s2

Could the numbers 25, 13, and@ be the 17)
lengths of the sides of a righ® triangle? -
Give a reason for your answer. (2 4L2 :Cl NOJ S\nc_e

0%+ p* = 194 F 9L,
132425 =3)°
194 £ Q)

Calculate the area of the figure. 18) L‘% Un\"'S
TmP('Loid
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A dart is thrown at the dart board shown
at the right, at random. What is the
probability that it will hit the bull's
eye at the center, if the diameter of the
bull's eye is 0.8 inches, and the
diameter of the entire dart board is

24 inches?
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20. Find the area of each regular figure below.

2‘1.”{‘5‘”11

21} 7233 7% mi z

21. “The listening area for a radio statlon
extends 48 miles in every direction from
its signal tower Toe the nearcdt sguare
mile, what is the size of the station's
tistening(areal
A=Tv"
| — 2
=T 49
=723¢.2%
22. The area of a triangle is 127.5 square units. 22) Ufﬁl+ﬁ5
The length of one side is 17 units. Find
the length of the(altitudeto that side.
‘ heigwr - 1.
/N ! A= b h=15
;1 — ,.l-. » -
127.5 = vy -
€5 8. 29
23.  Find the area of each composite figure below. - ¢
al_l.]p‘?__.__cz (g ,
3,61'{‘\91151 .
2.25 b= 25 24 L7852 1 2¢
12.25 -j12.3% ¢ ]
=275 \
A= , E S
R 1 % A=S
— A
A=Tor &q —
- 2 =109 1.9cm
=Ti-14 % 7%‘-1
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=(pl5715+2=307.9






